Module 2 Topic 1 Review             Name ________________________________ Period ________
	1.
	Rewrite the explicit formula in function form.  Then identify the y-intercept of the function.

an = 5 + 0.2(n - 1)



	2.
	Determine whether each table of values represents a linear function.  For those that represent linear functions, write the function.  For those that do not, explain why not.
a.                                                                      b.
[image: ]                                                     [image: ]



	3.
	An elevator in a high-rise building moves upward at a constant rate. The table shows the height of the elevator above the ground floor after various times.
                                                           [image: ]
a.  Determine the average rate of change for the problem situation. Be sure to include units of measure.

b.  Write a function that models the table of values. Define your variables.

c. Determine the height of the elevator at 14 seconds.

 

	4.
	Use the graph to determine when f(x) = 5 and the value of f(2).
                                                 [image: ]

	6.
	Evaluate the function f(x) = 31.572x - 17.741 at each of these values.

a.  f(6.2)                                                               b.  f(-27.018)


	7.
	Given the graph of f(x), graph f(x) + 4
                                                     [image: ]

	8.
	Rewrite each explicit formula in function form.
a.  an = 19 - 7(n - 1)

b. an = 1.5 + 4.2(n - 1)


	9.
	A tree is currently 8 feet tall and grows 3 feet per year.
a.  Model this scenario with an arithmetic sequence in explicit form.

b.  Rewrite the explicit form of the sequence using function notation.

c.  How tall will the tree be in 12 years?


	10.
	Use the graph to determine when  f(x)=-4   and the value of  f(9)
                                              [image: ]

	11.
	Determine whether each table represents a linear function. For those that represent linear functions, write the function. For those that do not, explain why not.

a.    [image: ]                                                            b.  [image: ]


	



	

	12.
	A faucet leaks water at a constant rate. Tara places a measuring cup under the leak to catch the water. The table shows the number of milliliters of water in the cup at different times.
                                                               [image: ]
a.  Determine the average rate of change for the problem situation. Be sure to include units.

b.  Write a function to model the table of values.

c. Determine the amount of water in the cup after the faucet leaks at a constant rate for 12 hours.


	13.
	Using the graph below, how many gallons of gas can be purchased for $15.80?
                                                           [image: ]

	14.
	Use the graph to determine when f(x)= 4 and the value of f(-8).
                                                         [image: ]

	15.
	For each of the following, a function has been given along with its graph. Perform the specified transformation of the function and graph.
[image: ]

	16.
	Rewrite each explicit formula in function form.
a.    an = 12 - 6(n - 1)                                          b.    an = 3.5 + 2.8(n - 1)      


                                                    

	17.
	Determine whether each table represents a linear function. For those that represent linear functions, write the function. For those that do not, explain why not.

a.    [image: ]                                                                 b. [image: ]

	18.
	A faucet leaks water at a constant rate. Andrea places a measuring cup under the leak to catch the water. The table shows the number of milliliters of water in the cup at different times.
                                                               [image: ]
a.  Determine the average rate of change for the problem situation. Be sure to include units.

b.  Write a function to model the table of values.

c. Determine the amount of water in the cup after the faucet leaks at a constant rate for 11 hours.



	19.
	[bookmark: _GoBack]Use the graph to determine when f(x) = 7 and the value of f(5).
                                                                   [image: ]
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LINEAR FUNCTIONS: End of Topic Test Form A

5. Determine whether each table represents a linear function. For those that represent linear
functions, write the function. For those that do not, explain why not.

a. b.
y

=16

6. Afaucet leaks water at a constant rate. Tara places a measuring cup under the leak to catch the
water. The table shows the number of milliliters of water in the cup at different times.

Time (hours) Amount of Water (milliliters)

35 14
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6. Afaucet leaks water at a constant rate. Tara places a measuring cup under the leak to catch the
water. The table shows the number of milliliters of water in the cup at different times.

Time (hours) Amount of Water (milliliters)
35 14
4 16
45 8
5 20

a. Determine the average rate of change for the problem situation. Be sure to include units.

b. Write a function to model the table of values.
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b. Write the function you graphed in €. Determine how much Gina will have left
factored form. of her savings after 10 months

8. Using the graph below, how many gallons of 9. Use the graph to determine when f(x) = 5
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LINEAR FUNCTIONS

10. For each of the following, a function has been given along with its graph. Perform the specified
transformation of the function and graph.

a.f()=3x+3 b. ) =x+7
Graph: fix) — 3 Graph: —=2f(x)
Graph A GraphB
y 1%
5

€ f)=2x+1
Granh: 2f(x) + 3
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5. Determine whether each table represents a linear function. For those that represent linear
functions, write the function. For those that do not, explain why not.

a. b.
X y = y
-4 -1 -2 -9
-3 -8 -1 -4
0 1 0 1
1 4 1 5

6. Afaucet leaks water at a constant rate. Andrea places a measuring cup under the leak to catch
the water. The table shows the number of milliliters of water in the cup at different times.

Time (hours) Amount of Water (milliliters)
15 75
2 10
25 125
2 15 -
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6. Afaucet leaks water at a constant rate. Andrea places a measuring cup under the leak to catch
the water. The table shows the number of milliliters of water in the cup at different times.

Time (hours) Amount of Water (milliliters)

15 75

2 10

125

15

a. Determine the average rate of change for the problem situation. Be sure to include units.

b. Write a function to model the table of values
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€. Determine the amount of water in the cup after the faucet leaks at a constant rate for 11 hours.
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b. Write the function you graphed in
factored form.

8. Using the graph below, how many gallons of
gas can be purchased for $31.60?
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€. Determine how much Tom will have left
of his savings after 10 months.

9. Use the graph to determine when f{x) = 4
and the value of f(4).
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2. Determine whether each table of values represents a linear function. For those that represent
linear functions, write the function. For those that do not, explain why not.

© Carnegie Learning, Inc.





image2.png
© InformationNOW -0104 - SIEGEl X | [33 Mail- polandj@rcschoolsnet X | C Camegie Leaming Resource Cen' X CL IM1_AS.P x  + =

C @ nhttpsy/cli-cdn.s3.amazonaws.com/resources/textbooks/NA/IM1/TIG/IM1_AS_Pre_M02_TO1.pdf?AWSAccessKeyld=AKIAISU26FDF2ZZD7QKQB!Signature=6Tdf%2B06pcTthIX2L2Quudk%.. @ ¥ | @)

IM1_AS_Pre_M02_T01.indd

LINEAR FUNCTIONS: Pre-Test +

NEAR FUNCTIONS

3. An elevator in a high-rise building moves upward at a constant rate. The table shows the height
of the elevator above the ground floor after various times.

Time Height
(seconds) (feet)

1 12

2 24

3 36

4 48

a. Determine the average rate of change for the problem situation. Be sure to include units
of measure.

b. Write a function that models the table of values. Define your variables.

€. Determine the height of the elevator at 14 seconds.
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LINEAR FUNCTIONS

5. Use the graph to determine when f(x) = 5 and the value of f(5).

6. Evaluate the function f(x) = 31.572x — 17.741 at each of these values.

a.f62)

b. f(-27.018)

7. Given the graph of f(x), graph f(x) + 4.





image4.png
@ InformationNOW - 010

x | [@9 Mail- polancj@rcschoolsnet X | Cb Carnegie Leaming Resource Cer X CL IM1AS Pre MO2TOTindd X+ =

C @ nhttpsy/cli-cdn.s3.amazonaws.com)/resources/textbooks/NA/IM1/TIG/IM1_AS_Pre_M02_TO1.pdf?AWSAccessKeyld=AKIAISU26FDF2ZZD7QKQBISignature=6Tdf%2B06pcTthiX2L2Quudk%... & ¢ | @)

IM1_AS_Pre_M02_T01.indd

Evaluate the function f(x) = 31.572x — 17.741 at each of these values.

a./62)

b. f(-27.018)

Given the graph of f(x), graph f(x) + 4.
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8. Write the equation of the line parallel to y = 4x + 3 that passes through the point (=2, —3).
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using function notation.

€. How tall will the tree be in 12 years?

3. Recall what you have learned about 4. Calculate the average rate of change for f(x).
arithmetic sequences and linear functions y
to help you answer the following questions.

a. Can all arithmetic sequences be
modeled by a linear function? If not,
provide a counterexample.

b. Can all linear functions be modeled
by an arithmetic sequence? If not,
provide a counterexample.

4
g

c. Compare the domain of arithmetic
sequences to the domain of
linear functions.
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